Question E1, Item 5.
Choose only one answer by putting a checkmark in the box.  Checking off more than one box invalidates the answer.  Also, explain in-detail why such answer is chosen.
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Question E1, Item 6.
Choose only one answer by putting a checkmark in the box.  Checking off more than one box invalidates the answer.  Also, explain in-detail why such answer is chosen.
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Question E1, Item 7.
Choose only one answer by putting a checkmark in the box.  Checking off more than one box invalidates the answer.  Also, explain in-detail why such answer is chosen.
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